40 Bowls Test

40 Bowls Test

40 Bowls Test

Player Date Player Date Player Date
Conditions Conditions Conditions
No of | Hand Jack 1st 2nd Total No of | Hand Jack 1st 2nd Total No of | Hand Jack 1st 2nd Total
End| gowis played | Position | Bowl | Bowl | Score Endf gowis played | Position | Bowl | Bowl | Score End 5 ouwis played | Position | Bowl | Bowl | Score
2 F/H Long 12 2 F/H Long 12 2 F/H Long 12
1 2 F/H Long 2 1 2 F/H Long 2 1 2 F/H Long 2
2 B/H Short 12 2 B/H Short 2 2 B/H Short 2
2 2 B/H Long 2 2 2 B/H Long 2 2 2 B/H Long 2
2 F/H Short 12 2 F/H Short 2 2 F/H Short 2
3 2 F/H Long 2 3 2 F/H Long 2 3 2 F/H Long 2
2 B/H Short 12 2 B/H Short 2 2 B/H Short 2
4 2 B/H Long 2 4 2 B/H Long 2 4 2 B/H Long 2
2 F/H | Matup 2 2 F/H | Matup 2 2 F/H | Matup 2
5 2 B/H | Matup 2 5 2 B/H | Mat up 2 5 2 B/H | Matup 2
2 B/H Long 2 2 B/H Long /2 2 B/H Long 2
6 2 B/H Short 2 6 2 B/H Short 2 6 2 B/H Short 2
2 F/H Long 2 2 F/H Long 12 2 F/H Long 2
7 2 F/H Short 2 ! 2 F/H Short 2 ! 2 F/H Short 2
2 B/H Long 2 2 B/H Long 12 2 B/H Long 2
8 2 B/H Short 2 8 2 B/H Short 2 8 2 B/H Short 2
2 F/H Long 2 2 F/H Long 12 2 F/H Long 2
9 2 F/H Short 2 9 2 F/H Short 2 9 2 F/H Short 2
2 B/H Long 2 2 B/H Long 12 2 B/H Long 2
10 2 B/H Long 2 10 2 B/H Long 2 10 2 B/H Long 2
Total Bowls within 2 feet = /40 Total Bowls within 2 feet = /40 Total Bowls within 2 feet = /40
Total on Forehand = /18 Total on Forehand = /18 Total on Forehand = /18
Total on Backhand = 122 Total on Backhand = 122 Total on Backhand = 122
Total on short ends = /18 Total on short ends = /18 Total on short ends = /18
Total on long ends = 122 Total on long ends = 122 Total on long ends = 122

1 Point for each bowl! within a MAT LENGTH

1 Point for each bowl within a MAT LENGTH

1 Point for each bowl within a MAT LENGTH

4 Points Total Per End

4 Points Total Per End

4 Points Total Per End

If no score - Mark with N=Narrow,
W=Wide, S=Short, L=Long.

If no score - Mark with N=Narrow,
W=Wide, S=Short, L=Long.

If no score - Mark with N=Narrow,
W=Wide, S=Short, L=Long.




